

ت. 158

$$t_1 = 41 \rightarrow t_1 + 3d \Rightarrow 41 + 3d = 11 \Rightarrow 3d = 21 \Rightarrow d = 7 \rightarrow t_n = 41 + (n-1)7$$

$$t_x = 208 = 41 + (x-1)7 \Rightarrow (x-1)7 = 167 \Rightarrow x-1 = 23 \Rightarrow x = 24$$

$$\Rightarrow x = 24 \quad \checkmark$$

$$100 \leq 7x + 3 < 1000$$

$$\Rightarrow 97 \leq 7x \leq 997$$

$$\Rightarrow 14 \leq x \leq 142$$

وقت 1

$$\frac{142-14}{1} + 1 = \boxed{129}$$

$$\underbrace{d_{n+1} + d_{n+2} + d_{n+3}}_{3d_{n+2}} = -4n + 12 \quad \left\{ \begin{array}{l} 3d_{n+2} = -4n + 12 \Rightarrow d_{n+2} = -\frac{4}{3}n + 4 \end{array} \right.$$

$$d_{4+2} = d_6 = -\frac{4}{3}(4) + 4 = -\frac{4}{3}$$

$$d_{10+2} = d_{12} = -\frac{4}{3}(10) + 4 = -\frac{32}{3}$$

$$d_6 + d_{12} = -\frac{4}{3} - \frac{32}{3} = -\frac{36}{3} = -12 \quad \checkmark$$

$$ad = r^{x+1} - r^x + 1 = r^x + 1$$

$$ad = r^{2x} - r = r(r^x) = r^x(r^x - r) - r \quad \left\{ \begin{array}{l} r^x + 1 = r^x(r^x - r) - r \end{array} \right.$$

$$\Rightarrow r^{2x} + r = r^x(r^x - r) \Rightarrow r^{2x} + r = r^{2x} - r^{x+1}$$

$$\Rightarrow r^{x+1} + r = r^{2x}$$

$$\Rightarrow r^{x+1} = r^{2x} - r$$

$$\Rightarrow r = \frac{r^{2x} - r}{r^x} = 1 + \frac{r^x - r}{r^x} \Rightarrow r = \frac{r^x - r}{r^x} \Rightarrow x = 2$$

$$\Rightarrow r^{2x} - r + r^{x+1} + r^x - 1 = r^x - r + r^x + r^x - 1 = 12 + 12 + 3 = 27 \quad \checkmark$$

$$d_{12} - d_1 = 2d = 0 \Rightarrow d = 0$$

$$d_1 + d_{12} = r d_1 + r \cdot d = r \omega \Rightarrow r d_1 + r \cdot 0 = r \omega \Rightarrow r d_1 = -r \omega \Rightarrow d_1 = -\omega$$

$$\frac{r \times r / \omega}{\omega}$$

$$d_{r1} = -12/\omega + \left(\frac{r}{\omega}\right) \times r/\omega = \boxed{r^2/\omega} \quad \checkmark$$

$$d_t + d_r + d_{rr} + d_k + d_\omega = \frac{1}{r} (d_y + d_v + d_\lambda + d_g + d_i)$$

$$\omega d + 1 - d = \frac{1}{r} (\omega d + r \omega d)$$

$$\Rightarrow d + r d = \frac{1}{r} (a + v d) \Rightarrow a = \frac{1}{r} d + \frac{1}{r} d - r d = \frac{1}{r} a + \frac{1}{r} d = \frac{1}{r} (a + d) \quad \text{دقت!}$$

$$\Rightarrow a = \frac{1}{r} \frac{(a+d)}{a_r} \Rightarrow \frac{a_r}{a_i} = \boxed{\frac{1}{r}} \quad \text{دقت!}$$

$$t_n = t_{n-r} + 1\omega$$

$$t_r = t_1 + 1\omega$$

↓

$$t_1 + r d = t_1 + 1\omega \Rightarrow r d = 1\omega \Rightarrow d = \omega$$

$$t_9^r - t_\omega^r = (a + (1 \times \omega))^r - (a + (r \times \omega))^r = a^r + 1 \cdot a + 1 \cdot \omega - a^r - r \cdot a - r \cdot \omega = r \cdot a + 1 \cdot \omega = r \cdot (a + \omega)$$

$$\frac{r \cdot (a + \omega)}{a + \omega} = \boxed{r} \quad \checkmark$$

$$\frac{r + \sqrt{r} - r(1 - \sqrt{r})}{1r} = \frac{r + \sqrt{r} - r + r\sqrt{r}}{1r} = \frac{r\sqrt{r}}{1r} = \boxed{\sqrt{r}} = d \quad \text{دقت!}$$

$$\frac{r r - r}{r n - r} \times n + r = 11 \Rightarrow \frac{r}{r(n-1)} \times n = 9 \Rightarrow \frac{1 \omega n}{r n - 1} = 9 \Rightarrow 1 \omega n = 1 \lambda n - 9 \Rightarrow r n = 9 \Rightarrow n = r \quad \checkmark$$

$$a_n = r \times a_{n-r} \quad a_n + d_{n+r} = a_r + d_{1r} = r d_1 + 1 \lambda d = 19 d$$

$$\Rightarrow d_r = r d_1 \Rightarrow r d_1 = d$$

$$a_n + a_{n+r} = d_1 + (n-1)d + d_1 + (n+r)d = 19 d$$

$$\Rightarrow r d_1 + n d - d + n d + r d = 19 d$$

$$\Rightarrow r n d + r d = 19 d \Rightarrow r n d = 18 d \Rightarrow r n = 18 \Rightarrow n = 1$$

$$a_n = r d_1$$

$$\left. \begin{array}{l} a_k = d_1 + r d \\ a_n = d_1 + v d \end{array} \right\} \begin{array}{l} a_1 + v d = r (d_1 + r d) = r d_1 + 9 d \\ a_k = d_1 + v d \end{array}$$

$$\Rightarrow d_r = -r d \Rightarrow d_1 = -d$$

$$d_k = a_1 + (k-1)d = -d + (k-1)d = (k-r)d = 0$$

$$\Rightarrow k = r \quad \checkmark$$